.l l. 6% @ A Multiply by powers of ten (missing number)

Name: Date: Score:
5.384 x =53.84 3.092 x = 3092
1.069 x =10.69 5.979 x =59.79
10.838 x = 1083.8 5.179 x =5179
4.073 x =407.3 7.372 x = 7372
6.489 x = 64.89 2414 x =2414
1.702 x =17.02 1.566 x = 15.66
1.976 x = 1976 3.109 x =31.09
6.244 x = 0624.4 5.933 x =59.33
4.364 x =43.64 2.295 x =22.95
10.393 x =1039.3 7.99 x = 7990
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6% % A Multiply by powers of ten (missing number)

Name: Date: Score:
5.384 x 10 = 53.84 3.092 x 1000 = 3092
1.069 x 10 = 10.69 5.979 x 10 = 59.79
10.838 x 100 = 1083.8 5.179 x 100 = 517.9
4.073 x 100 = 407.3 7.372 x 1000 = 7372
6.489 x 10 = 64.89 2414 x 100 = 2414
1.702 x 10 = 17.02 1.566 x 10 = 15.66
1.976 x 1000 = 1976 3.109 x 10 = 31.09
6.244 x 100 = 6244 5.933 x 10 = 59.33
4.364 x 10 = 43.64 2.295 x 10 = 22.95
10.393 x 100 = 1039.3 7.99 x 1000 = 7990

www.snowmath.com


https://www.snowmath.com

